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C—PHY 1interface 1nstruction

Negative Polarity States
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Figure 1 Six Physical Layer Wire States of C-PHY Encoding, Nominal Values Shown Trigger, at 1St Zero crossing

Figure 58 C-PHY Eye Pattern Example, Triggered Eye



How to use IBIS model do the C-PHY SI simulation

MIPI C-PHY using IBIS I/O drivers and
differential receivers
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Check the simulation result

Vpir_rx_as(t) = V(1) - VB(t); Vorr_rx_sc(t) = Va(t) - Vo(t); Vorr_rx_ca(t) = Ve(t) - Valt); 0 3
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Parameter Description Min Nom Max Units | Notes 0 1 00 200 300 400 500 600 700 800
1261 | teve_raur Eye ramp time at the receiver 02 ul
teve_winTH Eye width at the receiver 0.4 Ul 5
1262
tui_averace Ul average Ulinst t'mel psec




Summary

Use IBIS model to do the C-PHY Sl simulation is very convenient, accurate and fast.

From the simulation we can best evaluate the quality of C-PHY signal and make the product successful.







